EA EAE® 773U~
s |

sex O [AKIR ]| RiEs 129

SRS |

110

FEUNLLERERNTH

i 7E i :
®EH:
EHEEH -
B
s/ RE
;R E:
BoO&:
B H 5
BREIGMERN
BERES ¢
BREURTER]
N IBESS
JMIBERERN -
IMIRERES -

f| ev Jorvle el 223 | Bs

TLHR X 6-2-27
199442 H

1937

11

SBBEAOTI)—NE 148
5,800M.H

RED25B5

57 XiE

28,000M.”H
BEIBERAR D 2 - A5y
ST

21 KiE

2,400-4,200M.H
NATBEBHERRO 2 A5

HEC | VL= —CELTLBLERR T 7 IV OREN TEE A,
=15 | HEEBICHHEAASEZBLTVET,

1LDKGem 25 2293~
Ox% #:122,900~ 135,600
QHAXS: A5011

79F7—h

() MEI MB ‘
WE \
L /] S[DE B D FyFy
xH #0358
P u —
i B 8 o =
mafma] ma D
D=
FL(=2y
— M= #11.58
N)Ld=—
MBEUBRILTHHVET,

2LDKq2m) B 7306
O% #:143,100~156,800MH
@HAX S AS012

7vIT—h
H—ER
IL—L ()|
158

E b Na i rﬁllﬁlﬂlj Rt 139

= = w_\%rs,,—/ \TE

meum#

m =
T

S |

=

2LDK@eR 52 75.06n

O%x% #:143,100~151,900/
@HBARX S A5012

] 1T .

I =
S e
— i
Oy )
’ﬂqﬁ h*{LJl
E g m%lfﬁ?l%)\
P27
=
1458
=

N3a=—

ADK (3P  2E 77.61m

0% #:150,800~156,000r
SHBAX S} A5012

7yI7—h

L [&T
#2E |~
% [

R % 1
et
Ejj ea
FyFy .
[ [
NN ooy
A=Y
#1458
=

NLa=—




3LDK@m 2% 91.17m

Ox #:170,100:172,600M
@ H5AX 5y A5013

T
e [

| ==

0 eR

B

Fin E2N

i
W~
A oA
FYFY 7
148 0
sz
I CAN| = ]

I N oo

A=Y
-

=

#1568

F NLa=—

— - 91.56~
3LDK<(22F) Eg 9354

Ox %#:170,400~180,400H
QH5AX Sy A5013

FEE
758
i S
e N B
FvFy B
48 D 2 U
m FE
o #6.55
Yy A el
=27
#9158
m%

AT

3LDK (9F» %*g 8312%
O% $#:173,400~ 183,600
QHAXSY: A5013

3LDK@m 2% 92.14m

Ox #:170,900-173,600M
@ H5AX 5y A5013

7yIT—h

L

— - 91.56-
3LDK <377 Eg 91.96n

0% #:167,700~ 183,500
®H5AX 5} A5013

7yTF—N
-
=
Y% VARV

] ==
MB N

MB

i

]
s P
SE ~ 168
- wa |25

1]

s

wam D =

g

FE
68

D

—lus=

ueyy
TA=2T
#1658

EEE—I

111

R
X



